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N.B. : (1) All questions are compulsory. , : _ ‘
(2) Cite case law wherever necessary. o : L
(3) Figures to right indicates full marks, : : v
‘1. Answer in two to three-sentences each :— L
(a). Explain the term "Computer".
- (b) What is the period of assignment of copyright ? ,
(¢) Who can apply for registration of a design ? o
- (d) . Define "inventive step" - - -
(¢) What is a Patent of Addition , o N
(f) . Explain the term Indication ' ) %
~(g) Explain the term article. . . ' oy
(h) Who is a.composer ? - . o " \\g’
.(i) - What is an Indian Work ? e A QQ
- () Explain the term goods. - ' R

+

2. Write short notes on any four of the followmg o O _— 20
(8)  RighsManagement information ' \‘]-’\‘" '
(b)  Rights and Liabilities of copyright sq@tlcs
. (¢) _Mareva Injunction ' N
~(d) . Specification _ éﬁ%
C - (e) - Priority Date. R
L o ,(f) Quahtles of a Good Tradcé&k

3. Solve any two of the following p Ems — | 12
- (a) * . Mr. X, applies for é@gstratlon of a Demén of Rectangle to be applied to
goods. -
(1) WillMr, X succeed to get the Desi gn Rectangle registered under
Design Act 2000, ‘
(2) \\Explam the provision of law apphcable

(b) The ﬁgor MrX bequeaths his unpubhshed poem "The Rays" to his son Y
by, e of a will,

- @1 . Isthe bequegbvalid inlaw ? :
s QO (2)  Is the son entitled for "Copyrlght" on the poem "The Rays".
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, (c)  Aprepares an admixture of two chemicals, which react and produce a new
. - . . . . . chemical which is only-an aggregation of the properties of the twa mixed.
... . chemicals Mr. A desires to apply for a patent. e
' ' ()  Will Mr A succeed to get a Patent ? o
(2) State and cxplain the provision of law. ' {:Z}‘ 3
. ‘ ' v ) iy { t}‘z_“w
4. Answer any four of the followmg - o "
(a)  Explain the nature and scope of Intellectual Property nghts \'9‘
~(b). Discuss the grounds of refusal of registration of a Trade Mark m(@er the
Trade Mark Act 1999. : : \’\
(¢) Explain Revocation of a Patent. - : N

d Explain the effects of Registration of Geographmal Indlc ion :
(e) - Which-are the acts which do not amount to mﬁ'mgcmem'_bof copyright ?
® Dlscuss the law of Passing off with case, law. 7 ;\
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